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Physical Chemistry
... iremos explorar, refletir, aprender ?..

Area of chemistry concerned with the application of the techniques and theories of physics to the study of chemical systems.

Lecture#24
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Chemical equilibrium
P.W. Atkins  CHAP. # 7

If  ΔrG < 0, the forward reaction is spontaneous.

If  ΔrG > 0, the reverse reaction is spontaneous.

If  ΔrG = 0, the reaction is at equilibrium.
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Extent of reaction
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N2(g)   +  3 H2(g)           2 NH3 (g)

Ammonia synthesis reaction
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Activity coefficients Debye–Hückel
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Equilibrium

constant

Therefore, doubling the pressure must increase Kx

by a factor of  4 to preserve the value of  K.

Predicting the effect of  compression

𝑝 =  𝑝𝑁𝐻3 + 𝑝𝐻2 + 𝑝𝑁2 NH3
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